EAGRAROBREERT — 2 N— IBISH —F

202158A3H (X) 10EEZHE1H

12R EPERSL R L XY EEDE R
[AE4£] 17 :600,000 23#&:192,000  ~ 3 #&:108,000 @ . 4 7#&:72,000 @ 5 7 :48,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
i : 4 3 | AEBR 1:42.9 1-1-1-1 | 38.3| — 1 441 | BEED (BEE)
118/9| ZNV—RT1—K 54.0 - 45 | B #ET7—L
R:Z2bhArIUE—> BNyTFa2Y HET7— L
. 4 3 | BALEE 1:44.8 9-9-8-3 |39.3| — 5 455 | BHZ (BHE)
2188 JXEH 70O A53.0 (9) *+3) (¥) MR
R—FHIIYL BIHANTZ RS
FEpeE . 2 o _ TiEER (BHE)
3 6l ETHUZX 3 ;_0 1.(415>.o 3-3-2-2 | 40.2 3 ?-645)) ZEM%
LT v TRy b B U—FTHFFAI =2
. . . 2R3 . A _ HFEE— (BEHE)
4 3| ZSRPYN—H— 8| B 1(.14/52.)1 7-7-4-4 | 40.0 4 ff) i
R:7vy3Is—L B:/0/C4EH3 HET7—L
o 4 3 | SHEX 1:45.7 6-6-7-5 | 40.5| — 2 4 | FRES (BEHE)
5|11 ¥/ 5.0 ® o) |LBn
R:7x/—*2/) B:Va3vaXxF)> AN=—LT7—La—-FKRL—-3>
= 43 | LUEE 1:45.8 5-5-6-6 | 40.6 | — 7 453 |MTTEA (BHE)
6|5|5|%H7I~ 56.0 1/2) 2) | @) 77— rETa>
LN=HINK B:TIARILT R Ei=13 I G
== 4 3 | DEREE— 1:46.8 8-8-9-7 |41.3| — 8 435 | IFE% (BHE)
717171771 54.0 (5) (+15) | BFIER
LRVIRATA v I I4VT7— BT+ —=T vy B MR
B3 | HHEA 1:49.0 2-2-3-8 |44.0| — 9 427 BEX (BHE)
8 4| N—X*I 54.0 (21 4) (o) |TEEEE
R4 g RT—ILEY BiYLRXTyIa paiutie]
g R 4 3 | #LBAE 1:49.7 4-4-5-9 |44.6| — 6 M |BOXRE (BEE)
9 o| b=FRTL v R 54.0 @) (+6) | REBME (D)
/TR B b=k 2L BRT U H IS
® I—F—&EBIERL
13—7F— 9,4,6,2,5,1,3,7,8
230—7— 9,4,6,2,5,1,3,7,8
§T=5r= 9,6,4,3,2,5,1,8,7
41—F— 9,6,8,3,1,5,7,4,2
[ N5
B 9 170 794K 8-9 320M & 8-8 760/ &R 6-8-9 1,160
# B 9 110M9 6-9 210M B E 8-9 1,400 EE 9-8-6 4,550
8 170 6-8 420M B H 9-8 1,390/
6 1509

ARICOVWTRDTEEERROODE. TR LIV,




